
02.03 Картер коробки передач (болты) 
 

 
 
 



№ в 
рисунке 

№ по 
каталогу Наименование Примечание 

001 2071050394 Картер коробки передач  
002 3093141890 Болт M14 x 160 CSN 02 1176.55 
003 2050780274 Шайба  
004 3093141800 Болт M14 x 80 CSN 02 1176.55 
005 3091148350 Болт M12 x 40 ISO 4014 - 10.9 MKS 720 
006 3093141730 Болт M12 x 80 CSN 02 1176.5 
007 3091172480 Болт M12 x 150 ISO 4014 - 8.8 MKS 720 
008 3091172310 Болт M12 x 60 ISO 4014 - 8.8 MKS 720 
009 3091144980 Болт M12 x 120 ISO 4014 - 8.8 MKS 720 
010 3111101180 Гайка M14 ISO 4032 - 8 MKS 720 
011 3111101160 Гайка M12 ISO 4032 - 8 MKS 720 
012 3111123080 Штифт 12 x 25 A ISO 2338 - St 
013 3111123610 Штифт 16 x 40 A ISO 2338 - St 
014 3093141930 Болт M16 x 50 CSN 02 1176.5 
015 2010420154 Серьга  
016 3119013320 Кольцо уплотнительное 30 x 36 CSN 02 9310.2 
017 3111108860 Шайба пружинная 12 CSN 02 1741.05 MKS 720 
018 3111105380 Шайба 13 CSN 02 1702.1 MKS 720 
019 2054171114 Кольцо уплотнительное 16 x 12 SI 
020 3111108870 Шайба пружинная 14 CSN 02 1741.05 MKS 720 
021 3091173070 Болт M12 x 130 ISO 4014 - 10.9 MKS 720 
023 3093141910 Болт M14 x 180 CSN 02 1176.55 

 
 


	02.03 Картер коробки передач (болты)

